normalized X2

< X2/ ndf >

Ratio

< X2/ ndf >

Ratio

1.2F

[ normalized x? probability |

Prob()(?

o o
D0 s
PR e e e

w)|

--:4;;:";;ﬁeff’fﬁ*ﬂ++"+§:::::::::

< X2/ ndf >

Ratio

R 0.06 Entries
: 0.05
"'. ': ) Sbev 0764
P ; 0.04
10_35_ "' """""
E . 0.03f-- -
E 0.02
L TR rl?-
N o T T T
il = AR UH”“ |
CEEEEERENE IL LAl
EEEEEEEE LT
0902 4 6 8§ 10 12 14 16 18 20 0'95.. 0.4 0506 0.7 08 0.
X2
=== DQM_TT_time_newbranch
== DQM_TT_newbranch_time_pLess
1.8
1.6}

1 -1
AR(track, jet?



	Contents
	Page 1


